
170 Chapter 4  Graphing and Writing Linear Equations

Exercises4.4

9+(-6)=3

3+(-3)=

4+(-9)=

9+(-1)=

 1. VOCABULARY How can you fi nd the x-intercept of the graph of 2x + 3y = 6?

 2. CRITICAL THINKING Is the equation y = 3x in slope-intercept form? Explain.

 3.  OPEN-ENDED Describe a real-life situation that you can model with a linear 
equation. Write the equation. Interpret the y-intercept and the slope.

Match the equation with its graph. Identify the slope and the y-intercept.

 4. y = 2x + 1 5. y =   
1

 — 
3

   x − 2 6. y = −  
2

 — 
3

   x + 1

 A. 

x

y

12 13 2 3

1

2

3

3

 B. 

x

y

123 2 3

1

2

3

3

2

 C. 

x

y

12 13 3

2

3

3

2

Find the slope and the y-intercept of the graph of the linear equation.

 7. y = 4x − 5 8. y = −7x + 12 9. y = −  
4

 — 
5

   x − 2

 10. y = 2.25x + 3 11. y + 1 =   
4

 — 
3

   x 12. y − 6 =   
3

 — 
8

   x

 13. y − 3.5 = −2x 14. y = − 5 −   
1

 — 
2

   x 15. y = 11 + 1.5x

 16.  ERROR ANALYSIS Describe and correct the error in 
fi nding the slope and the y-intercept of the graph 
of the linear equation.

 17.  SKYDIVING A skydiver parachutes to the 
ground. The height y (in feet) of the skydiver 
after x seconds is y = −10x + 3000. 

 a. Graph the equation.

 b. Interpret the x-intercept and the slope. 

Help with Homework

y = 4x − 3

  The slope is 4, and 
the y-intercept is 3.

✗
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Solve the equation for y. (Section 1.4)

 27. y − 2x = 3 28. 4x + 5y = 13 29. 2x − 3y = 6 30. 7x + 4y = 8

 31.  MULTIPLE CHOICE Which point is a solution of the equation 
3x − 8y = 11? (Section 4.1)

  ○A   (1, 1) ○B   (1, −1) ○C   (−1, 1) ○D   (−1, −1)

Graph the linear equation. Identify the x-intercept. Use a graphing calculator 
to check your answer.

18. y =   
1

 — 
5

   x + 3 19. y = 6x − 7 20. y = −  
8

 — 
3

   x + 9

 21. y = −1.4x − 1 22. y + 9 = −3x 23. y = 4 −   
3

 — 
5

   x

 24.  APPLES You go to a harvest festival and 
pick apples.

 a.  Which equation represents the cost 
(in dollars) of going to the festival and 
picking x pounds of apples? Explain.

  
y = 5x + 0.75

  
y = 0.75x + 5

 b. Graph the equation you chose in part (a).

 25.  REASONING Without graphing, identify the 
equations of the lines that are (a) parallel and 
(b) perpendicular. Explain your reasoning.

  
y = 2x + 4

  
y = −   

1
 — 

3
   x − 1

  
y = −3x − 2

  
y =   

1
 — 

2
   x + 1

  
y = 3x + 3

  
y = −   

1
 — 

2
   x + 2

  
y = − 3x + 5

  
y = 2x − 3

 26.   Six friends create a website. 
The website earns money by selling banner 
ads. The site has 5 banner ads. It costs 
$120 a month to operate the website.

 a.  A banner ad earns $0.005 per click. 
Write a linear equation that represents the 
monthly income y (in dollars) for x clicks.

 b.  Graph the equation in part (a). On the 
graph, label the number of clicks needed 
for the friends to start making a profi t.
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